Math 280 Practice Test 2
1.   Is there any value of 
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 for which 
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 would converge? Why or why not?
2.   Determine if the sequence 
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converges. If so, state the limit.
3.   Show that the sequence 
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 is non-increasing. If we also know that it is bounded below,    

      what can you conclude about the sequence?

4.   Determine whether the series converges or diverges. If convergent, find the sum.

      a. 
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5.   Find the summation form for the series 
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. Does the series converge or 

      diverge? Why or why not?
6.   Use a direct comparison, limit comparison, or alternating series test to find if the series converges.
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                      c. 
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